

$$(D - m_1)(D - m_2) \dots (D - m_n) y = 0, \quad m_1, m_2, m_3, \dots$$

Auxiliary Eqⁿ (A.E.)

→ (Before d, see diff. operator)

→ Finding P.I. by method of variation of Parameters.

• So, let,

$$y'' + py' + qy = x \quad [p, q, x \text{ are f(x)}]$$

let y_1, y_2 be solⁿ of it & C_1, C_2 are C.F.

$$C_1 y_1 + C_2 y_2 \rightarrow \text{C.F. of } \textcircled{1}$$

y_1, y_2
got by
A.E.

Replace $\frac{dy}{dx} = m$, $\frac{d^2y}{dx^2} = m^2$
If $m = \pm ai$
C.F. are $e^{ax} \cos bx$ & $e^{ax} \sin bx$

let $C_1 = u(x)$ & $C_2 = v(x)$ (variables)

$$y = uy_1 + vy_2$$

$$y' = u'y_1 + v'y_2 + uy_1' + vy_2'$$

$$y'' = u''y_1 + v''y_2 + u'y_1' + v'y_2' + uy_1'' + vy_2''$$

$$u'y_1' + v'y_2' = X$$

let $w =$

$$u' = \frac{-y_2 X}{y_1 y_2' - y_1' y_2} = \frac{-y_2 X}{w}$$

$$v' = \frac{y_1 X}{y_1 y_2' - y_1' y_2} = \frac{y_1 X}{w}$$

wronskian
of y_1, y_2

$$u = - \int \frac{y_2 X}{w}$$

$$v = - \int \frac{y_1 X}{w}$$

if $m = \pm 1$

$$C_1 e^t + C_2 e^{-t}$$

Preview from Notesale.co.uk
Page 5 of 33

$\rightarrow$ Homogeneous Linear Diff. eqⁿ - (reduced to linear ~~homog~~ diff eqⁿ with const. coeff)

$$x^n \frac{d^n y}{dx^n} + a_1 x^{n-1} \frac{d^{n-1} y}{dx^{n-1}} + a_2 x^{n-2} \frac{d^{n-2} y}{dx^{n-2}} + \dots + a_n y = x(x).$$

Sub. $x = e^t$ (Cauchy's)

$$\frac{dy}{dx} = \frac{1}{x} \frac{dy}{dt}$$

$$\frac{dy}{dt} = x \frac{dy}{dx} = D y \quad \left(\frac{d}{dt} \right)$$

$$\text{If } y, x^2 \frac{d^2 y}{dx^2} = D(D-1)y$$

$$x^3 \frac{d^3 y}{dx^3} = D(D-1)(D-2)y \text{ and so on.}$$

Preview from Notesale.co.uk
 Page 6 of 33

$\rightarrow$ For Diff eqⁿ solving using Differential Operator - we know that,

$$(D^n + a_1 D^{n-1} + a_2 D^{n-2} + \dots + a_n) y = x$$

$$\therefore f(D) \cdot y = x$$

$\hookrightarrow$ Differential operator

So, Complementary Functⁿ (CF) $\Rightarrow f(D) \cdot y = 0$

So,

$$(D - m_1)(D - m_2)(D - m_3) \dots (D - m_n) y = 0$$

So, Auxiliary Eqⁿ is

$$f(m) = 0 \Rightarrow m^n + a_1 m^{n-1} + \dots + a_n = 0$$

$(f(m) = 0) \in$

④ Higher Ratio Test (Raabe's Test) -

$$- \lim_{n \rightarrow \infty} n \left(\frac{u_n}{u_{n+1}} - 1 \right) = K, \quad \begin{array}{l} K > 1, \text{ cgt.} \\ K < 1, \text{ dgt.} \end{array}$$

⑤ Logarithmic Test -

$$- \lim_{n \rightarrow \infty} n \left(\log \left(\frac{u_n}{u_{n+1}} \right) \right) = K, \quad \begin{array}{l} K > 1, \text{ cgt.} \\ K < 1, \text{ dgt.} \end{array}$$

⑥ Cauchy Integral Test -

- for $x \geq 1$, $f(x)$ is non-neg, monotonic $\downarrow$ of x
 $f(n) = u_n$.

So, for all vals of n , $\sum_{k=1}^n u_k \leq \int_1^n f(x) dx$

- If $\int_1^\infty f(x) dx$ is fixed/finite (cgt. or dgt. test)
- If $\int_1^\infty f(x) dx = \pm \infty$, (dgt. $\leftarrow$)

→ Alternating series -

- ∞ series, terms $\downarrow$ alternatively +ve & -ve
- $u_1 - u_2 + u_3 - u_4 + \dots$

→ Leibniz test -

• Alt. series is cgt. if -

- $u_1 > u_2 > u_3$ or, $|u_{n+1}| < |u_n|$
- $\lim_{n \rightarrow \infty} |u_n| = 0$

- if not alt, then osc. (no case of dgt.)

Preview from Notesale.co.uk
 Page 17 of 33

- Absolute cgt -

• $\sum |u_n| = |u_1| + |u_2| + |u_3| + \dots$ is cgt. $\therefore$ Leibnitz also $\checkmark$

- Conditionally cgt -

• Leibnitz $\checkmark$ but $\sum |u_n| = |u_1| + |u_2| + \dots \times$ cgt.

Successive Differentiation

$\rightarrow y = f(x), y' = f'(x), \dots, y^n = f^n(x)$

① $y = e^{ax}, y^n = a^n e^{ax}$

② $y = (ax+b)^m, y^n = \frac{(ax+b)^{m-n} \times m! \times a^n}{(m-n)!}$

③ If $m=n,$

$y^n = n! a^n$

④ If $m < n,$

If $m > n \checkmark$

Preview from Notesale.co.uk
Page 18 of 33

⑤ If $m = -1,$

$y = (ax+b)^{-1} = \frac{1}{(ax+b)}$

$\therefore y^n = \frac{a^n \times (-1)^n \times n!}{(ax+b)^{n+1}}$

⑥ $y = \log(ax+b) \rightarrow y_1 = \frac{a}{ax+b}$

$y^n = \frac{a^n \times (-1)^{n-1} \times (n-1)!}{(ax+b)^n}$

comp. with 3rd rep. of p.

$$\star \rightarrow \int_0^{\pi/2} \sin^p \theta \cos^q \theta d\theta = \frac{\sqrt{\frac{p+1}{2}} \sqrt{\frac{q+1}{2}}}{2 \sqrt{\frac{p+q+2}{2}}}$$

Reduction Formula

- connects an Integral, with other of same type integral, but of lower order.

$$I. I_n = \int \sin^n x dx = \int \overset{I}{\sin^{(n-1)} x} \overset{II}{\sin x} dx \quad (\text{by ILATE})$$

$$= \sin^{(n-1)} x \times (-\cos x) - \int (n-1) \sin^{(n-2)} x \times (-\cos x) dx$$

(cos x = 1 - sin² x)

$$I_n = -\sin^{(n-1)} x \cos x + (n-1) I_{n-2} - (n-1) I_n$$

$$I_n = -\frac{1}{n} \sin^{(n-1)} x \cos x + \left(\frac{n-1}{n}\right) I_{n-2}$$

$$\text{So, } \int_0^{\pi/2} \sin^n x dx \Rightarrow \left[I_n \right]_0^{\pi/2} = \left(\frac{n-1}{n}\right) \left[I_{n-2} \right]_0^{\pi/2}$$

$$\star \text{ So, } \left[I_n \right]_0^{\pi/2} = \int_0^{\pi/2} \sin^n x dx = \int_0^{\pi/2} \cos^n x dx$$

$$\left[\frac{(n-1)(n-3) \dots 3.1}{n(n-2)(n-4) \dots 4.2} \times \frac{\pi}{2} \right]$$

→ n is even

$$\left[\frac{(n-1)(n-3) \dots 4.2}{n(n-2) \dots 3.1} \times 1 \right]$$

→ n is odd